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QUARTERLY EXAMINATION - 2022

M
Standard - X Reg.No.| |.
Time: 3.00 hrs. - : ‘MATHS Marks: 100
- PART -1
Answer all the questions: 14x1=14
1. If n(A xB) = 6 and A = {1, 3} then n(B) is
A) 1 . B)2 | Q03 D) 6
2. Iff : A Bis a bijective function and if n(B) = 7, then n(A) is equal to
A) 7 "~ B)49 C)1 _ D) 14
3. f(x) = (x + 1)3 - (x - 1)3 represents a function which is
A) linear B) cubic ' C) reciprocal D) quadratic
4. The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is
A) 2025 ~ B)5220 .C) 5025 : D) 2520
5. The next term of the sequence 12 1— L LS is
. ; 16 812 182 i :
A) 57 B)s2 P = D) 51
6. 7%= (mod 100) '
A) 1 B) 2 Q)3 4N D)4
7. The solution of the system x +y -3z =-6, -7y + 7z = 7, 3x = 9 is
A)x=1y=2,2=3 ; , B)x=-1,y=2,z=3
C)x=-1,y=-2,z=3 D)x=1,y=-2,2=3
)(B 4210 ] . . '
: 8 The square root of W is equal to |
4 2 ;
NEEE pe 0% "Zz’
9. In ALMN, 2L = 609,/M = 509, If ALMN ~ APQR then the value of /R'is
A) 400 B) 700 _C) 3Q° r, - D)110°
10. In figure if PR is tangent to the circle at . o ' .
P and O is the centre of the C|rc|e
then ZPOQ is X :
A) 1200 B) 10Q° C) 1100 D) 90°
11. The straight line given by the equation x = 11 is
A) parallel to x axis : 'B) parallel to y axis
C) passing through the origin D) passing through the point (0 11)
12. When proving that a quadrilateral i$ a trapezium, it is necessary to show
' A) Two sides are parallel _ B) Two parallel and two non-parallel sides
C) Opposite sides are parallel D) All sides are of gqual length |
13. (2, 1) is the point of intersection of two lines.
A)x-y-3=0,3x-y-7=0 ; B)x+,y=3,3x+y=7
C)3x+y=3,x+y=7 D)x+3y-3=0,x-y-7=0
" 14, The value of sin%0 + it is equal to
A) tan%e Bt e - C) Cot2p D) 0

Y
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PART - II
Answer any 10questions. Question No. 28 is compulsory:
15. FindA X B and B x Aif A=4{2,-2, 3} and B = {1, -4}
16. Determine whether the graph given below represent function.
Give reason for your answer. 3

A %
~

)
17. Find fog and gof when f(x) = 2x + 1 and g(x) = x2 -2
18. Is 7 x 5 x 3 x 2 + 3 a composite number? Justify your answer.
19. Find the next three terms of the following sequence : 8,24,72, .ccocovvnen
~ 20. Find the sum of the following series. 14243+ e + 60
21. Find the LCM of the following 8x4y? , 48x%y*
22. Simplify : 22 207"
23. If AABC is similar to ADEF such that BC =3cm, EF = 4cm and

area of AABC = 54cm?. Find the area of 4 DEF.
24. Check whether the following traingles are similar and find the value of X

A 3 i S -
25. Find the area of the triangle whose vertices are (-3, 5), (5, 6) and (5, -2).
26. Show that the given points are collinear (-3, -4) (7, 2) and (12, 5)
. 7. Prove that tan?g - sin°® —tan20. sin%0
28. Find the eguation of a line through the points (2, 3) and (-7, -1) (OR)

cos 8

i ify : =secf-tanb
Prove the identify : T+ sind ‘
A _ PART - III _ |
Answer any 10 questions. Question No. 42 is compulsory: 10x5=50

29, Let A= {xeW/x<2} B= {xeN /1< x<4}and C= {3, 5}.
Verify that Ax (BuC) = (AxB) U(AXC) '
' - X ' .
30. Let f : A — B be a function defined by f(x) = 5‘—1, where A .= {2,4,6,10, 12},
B=4{0,1,2,475 6} Represent f by (i) set of ordered pairs (ii) a table (iii) an
arrow diagram (iv) a graph ‘

--Kindly send me your district question papers to our whatsapp numbér: 7358965593
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If f(x) = X - 4, a(x) = x% and h(x) = 3x - 5, show that (fog)oh = fo (goh)
Use Euclid’s Division Algorithm to find the HCF of 84, 90 and 120.
The sum of three consecutive terms that are in A.P. is 27 and their product is 288.

‘Find the three terms.

Fl+2+3+. i + n = 666 then find n.

Discuss the nature of solutions of the following system of equations X + 2y -2 =6,
-3x -2y +52=-12;x-22=3

If the polynomial 4x% - 12x3 + 37x2 + bx + a is perfect square, then find the values
of a and b.

State and prove Angle Bisector theorem.

The perpendicular PS on the base QR of a APQR intérsects QR atS, such that QS = 35R.
Prove that 2PQ%= 2PR? + QR?

Find the area of the quadrilateral whose vertices are (-9, -2), (—8, -4), (2, 2) and

- (1r -3)

A line makes positive intercepts on coordinate axes whose 'sum is.7 and it passes
through (-3, 8). Find its equation. 2
Prove that szA Cos2B + Cos2A Sin2B + Cos2A Cos2B + Sin?A Sin?B = 1.

R |™=

a
If a, p are the roots of the equat_lon 3x2 + 7x - 2 = 0, find the values of i) E +

‘ (OR)
Find the equation of a straight line passing through (1, -4) and has intercepts
which are in the ratio 2 : 5. ' : -
PART -1V

Answer the following questions: . 2x8=16

43.

44,

: ' e e 7
Construct a triangle similar to a given triangle PQR with its sides equal to 2 of the

' cbrresponding sides of the triangle PQR.

(OR) -
Construct a APQR whlch the base PQ = 4. 5cm /R = 35° and the median RG from
R to PQ is 6¢cm. :
A bus is travelling at a uniform speed of 50km/hr Draw the distance time graph
and hence find

i) the constant of variation ii) how far will.it travel in 90 minutes?
jii) the time reqwred to coyer a distance:of 300km from the graph
(OR)

Draw the graph of xy = 24, X,y > 0. Usmg the graph find (i) y when x = 3 and
i) xwheny = 6.
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